mFiEN
EBHEEEFEEAPACKING LIST

FBF: I"ERES S FHHERAR2#
1,FESH:
TE: H202301306 FEEE 3000kg
EB#REY | THJ 3000 / 1.0 - JXVF EEE BRIN5I3000+—{AL
B/uk 7/7/8 HEA:
BHRR | 1800x3200x2200 FIIRY: SEFFES1600 x 2100
2 a5
FE & FEHH RY  |8%FH pad

SRR |FhitR, FBYN, ELRABSEBREIEER ]

EEfE YRS, MIRIER, BIRiPE, B IPERR AN e

FEtfE (Bt JOHR (MR, R0, HUBSHE SR ]

IriE |EIR, BIINE ] B A8

iR |ERFERY, BeSmEY, TERM NiE]

SR SR, HE, B, SHER, 184 e

51 |B5IHRAN A
WEE TR JHBERAAE, 1Re A
LA |BIIRERY, 182 N
INZE | ENR, SORTEE, SR EZEEjaks
LR | ERRARR A EEEEaks
B TR [ TR EEaEs
BN (R AR, FIE EZEEjaks
NER |WWEZR, WEREY, FRERMRT, ES EEEE ks
AER |EEEFR, BIR, B, BLR Bk
e |EiNZL4E, E35|ENLLE N4
WEHR  (XJEER EES
SRR S, EEaEs

S EEEEEEE RN RN EEE

TR KREINTF

L IEH B - HZ: eE: FEts:
BHiEENEIL: BHA:
EPEREUR: [=):: K

R MEEAERSEHEREYL L. 85, FRFERE, MEBWEZHE=ENT



MO R

B E R

RS 1202301306 BE/u/11 7/ 1 / 8
FEMEE THJ 3000 / 1.0 - JXVF BRA RS 1800 X 3200 X 2200
EFER JERK S THME AR A R 24 FIIHFRER SEIFRUE . 1600X2100
WA |7 | AR E S B/ R Z K Kt/ by % I
LA A L ROR AL W Hm:wﬁ;f;igwmmﬂ% ! B RAME: AR
2 | H GRS bRt 120X 60 4 | zetgE b
3 1 H ST IR RN 120X 60 4 fF | e B
4 | H URLTG Hh 164, iR 130 4 A AR gk
51 8 SHR b 150325, t=16 2 | wesr b
6| H BRI AR e 160X 260 2 A e g
71 B LR S e 350X 314 2 A wes b
8 | A BTt kg, B $ 400-7-10-15 2 A SEHEAE R
9 | H 7 Jii 48 71 49 S =325 4 % IR R
10| A RS K. 1=3200 B RARHRFTC3200, BAFHS [ 2 S5 | MR A I A
1] A SR RN Bl 16 hiff 4 | B b
12| A RS A B SRS 5. 1864] X %3220 1 =
H M g e 932 0 i
13| A T T 63X 63X 63 fic @16 FikF 4 A H il
14| A RT3 Bt 1 kRt 108 H L=2014 1 = HAEH
15| H R bR A 200X290, t=16 2 W | B RR
« b - Sy _«c
16 Z ST L ”ﬂg}’:ggg"wfj‘m | £ 1som
Zi 17| IR S prikfE 130X 50 X 50 4 T | G e
18] A EIV bRt BIK 4 A | AR
9] A R AT D 16IEFF L=2100/1700 8 % | BARTU3ANIREL
SRR TR I 1] KB 1=2014 2 % 1284#4K
S B ] KJ¥: 1=2014 2 % 128184
BRI AR I KB L=2820 2 % 128184
B 2k B ] KEF: 1=1390 2 % 14484N
A - 5 HOR I I 150X 226 4 lia Q235, 12
20 | B e bR BebArdELE L= 400 2 £ | BRIERK
21| H RBRATHR BRI 1=3000, FL#E2000 1 %
22 | H 5 AR 295X 90 X 55 2 1
23 | H PRI A R bR 1 S
24 | A LR ! Bk dELE 930 2 % | 250848, xR
26 | 4h SRS BCT90/B, 2 FL75X75 H103 26 S 4L 4 A
o7 sb Xof 2 AR 5 :RER H s 2 A /N
sb SRR 77 REMR A 4 A
. QJLOTHrHE R A (| fVFEFE : 6000KG ey
w0 s BLRD) (MBI | gk in/s  BE. 16 o | | Bl g
29 [ 4h AR R FCAC S, BERIATK: 1789 1 £ | BEAELRLE
30 | 4 - RRUKSHF I 48 1 | BRcE RR L
HREEM B 1. SmmERA T (BE££90114)
31| B Je I EEAR L=432, H=2200 0 | 1. sootigise (Rs00114)
32| H J5 HHEERR L.=500, H=2200 0 8 | 1. snttE GR00114)
[ 33| @ AT J5BERR L=510, H=2200 4 |1 sttt on (sgoo110)
B 134 A ) BE AR AR 7 1 A LI L=500, H=2200 8 | 1. suiigigoe CR%00114)
351 A HITEERR 1=32, H=2100 2 | 1 s crsroon
6| H BYLRENR =232, 1=2100 2 |1 smimnen cesmoori
3| H R THE FUNEASE T L=1864, H=100 2 P | 1 swsminon cestoons
I Y % 815 2 £ | 1 s G010
138] H TR THUAR 542 X 1864 1 {4
1139 H PR THAR e 500 X 1864 3 i FFT FL
S e A PR 500 X 1864 L f8 | T3S0 KB
141 H JE R TR 542 X 1864 1 f
1“7l A IR 1. SmmdR 5 (4£90114) =825 H=2115 8 | SRSt
155| H ZIIH 1. SumRAR 8 CR4R90114) =830 H=2115 32 i TR
H FRGE 1. 21 1=2065 16 1t SR
156 A RES 1. Sum B9 (CR4%90114) B=50 1=1720 8 %
H & 1. SRR (SR4£90114) B=50 H=2120 16 I A
RESZNYS 1. SRR (SRt00114) 830 8 Jin
158 H pNUIEEA A Bkl 20 1 il
H JRMG T THL 2B RN 40%60 0 1
149 [ 4 |3EE GUEDER9LTA61-A 917A61-AC220 1 =
38| H EPSHIEN L70X70X6 1=250 38 i
39 | H ER IS L70X70X 6 L=200 38 1
5 BB O W L70X70X6 1=200 38 i
Bl 40 [ A [ FPOBE R EI R S L70X 70X 6 L=860 38 s FA %
41| H BB SRS L70X70X6 1=150 38 i
2| H R U SO L70X 70X 6 1=1886 19 i FLIE107

1o 3t

5 71




7 Bl kR B’ F B
Nt 2= H202301306 BE/5/17 T/ 7 /8
FERRS THJ 3000 / 1.0 — JXVF B R~ 1800X 3200 X 2200
BEPAR IR R E TR B IR A 28 FIHFRERS FEIFRUE : 1600X2100
| P [ R % R E5 /R . B O &3 ik s % I
) . 5K/%, |Bk: 12 % .
43 | 4h L e N T90/B PR P 62 K
5K/%, |BuE: 12 % .
LEIIE7N T75/B ok R 2 & 62 *
IR SR/, | M. 12 % ,
44 | b X S TK5A k& T 2 & 62 *
45 | 4b T FHUERAR T90/B 12 i
i Bh LR T75/B 12 f
46 | 4h A SR TK5A 12 1
47 | 4 EFHUEND T90/B 92 A
3 B UE D T75/B 76 H
Bl a8 | 4b B FHUER TK5A 102 H
49 | 4b ARG T90/B 22 H | BRAAFER
50 [ 4b ERUNES bRk K1=1100 2 lin FLIE96x96
51 | 4b S K10. 3 FLYE: 110 i fLEE110
53 | 4k SR T90/B €= 0.5mm, 1.2mm 72 1 JE
54 | 4b S TK5A €= 0.5mm, 1.2mm 72 1 JEE ] %2
55 | 4b JEIU S & AR 4 A
56 | H o} ] 1590 X 4100 1 £ | ) HR
58 | 4k o A ke, A ®400-7-10-15 2 A
59 | 4f UL 1640, /%125 4 £ | WXUZEE, Y
60 | 4t Xof A 760 X 300 X 80 74 | 3130, 52kg/1H:
- 61 | 4+ e 13K HAT R B=17 4 A 7 HE
® 63 | H o H R A A 5iE] 200%50 3 | BERCTEXS HE4E
64 | H X Hfe FE B P 350X 340 2 A | X E A
66 | H X SR PR 1750 X 1220 2 f# I
67 | A i 4P AR L %1220 0 a8 M £
68 | H o R SO L= 600 8 %
69 | A BRI 640%, L=3000 0 %
70 | 4k il B LD-HC-L11 2 A
JRbL| 71| 4b MRtk L LD-HC-L17 1 A
72| H JESUIEES FrifEE W H=1500 2 i)
i BEEE : 1 /s
| 73| [IStE XSG60T-B A i [ i 4% 4% . ©8 mm 1 = il A
PC ik S5 B RS AN
41 H FRRGAR bR L=300 H=60 7 1 TERhA
il 75| H FRREAR S BB dELE L= 345 7 %
E5) 76| H PR IT K e 5% H: 1900 2 3
71 A PRA S 28 fLEE110 L= 375 4 % | EGEEA
8| A o 4 S R A R TALO28, 228 N, FEBE R | 1 # |L=630
9] A % 748 A [ I 7L 28, 224 K4 1 7 |L=350
. 80 | H SR AR S AR AR 1=650, 16&44K 0 %
w |81 LA NG 8%19S+NF-10 Fit: @10 952 K 136K X 74
% 82 | 4h FRIg A 4N 22 43 8%19s+PP-8 Hiz: ®8 64 K
83 | 4t .k D8 6 A
84 | 4h gkl G D10 G 427 14 =
81| H BRI I 1 L=200 0 = R IR
85 | 4b TR E ks 1 =
#H . 3000kg  Huk: Im/s
- M. 4:1  ThF:20. 4kw N .
;EI 86 | 4b A0 8 51 B MCK300 pRETTY Tiov 1 & | FHFIFIMCK300
Wl 4. D400-7-10-15
87 | H EIE BRI FIMCK300 | ST E:  E 1 A [sr=temt i
88 | 4k E)IN; Bt AR 2417 4 £

Fo2ul k5 ;W




7R K K F B
N R H202301306 B35/ 7/ 7 / 8
FrmEE THJ 3000 / 1.0 — JXVF BRRRT 1800X 3200 X 2200
EPER I ERKE S THMEERA R 28 FIIFRER SRR . 1600X2100
R e R % W 5/ TE z B B AFE &I Rk AT &
89| A AR 4 KR 3.2k 28#b T744 2 % EH
9 | M AR KB L9k 184b ¥4 2 % i
= -
or [ p L TEIRE | leem o 2 x
2| H R 25 2 2 Jig B DL AFLIE: 240 1 %% | 1084844, L=750
ERE LA e e 500%314 3 A
g%l B 0 AR T =32 8 1
Wl H PR ke, M ®400-7-10-15 1 =
3| H LR SR EC AL Bt 650X 620 1 =
H HRR 4 Bk, M ®400-7-10-15 1 A
94| H EH B ke, P ®400-7-10-15 1 1
H HZRE1 s L=570 1 # 1. 2mmiEseR
H HZRE2 [ 1] L=420 1 4| 2.0mmiEsER
95 | 4 | Sk, RABFURIY 1640, &% 125 8 £ | BIg R,
96 | 4h AR g AR RN 53000+ 1K1k 1 = 22 kw
97 | 4k BEAT HLZE . [ H 4R JHE R R 30.2 K 1 S LR T
98 | 4b Je HUBR R TR 4 i
99 | 4k R R P 7 2 LR R AL 1 =
100 4k EY N BHRM: 1150X 155 b 7/ 7/8 1 E
j;i 101 5b | EESTE CEHEDD T ALSHIT 2 4
z 102 4b R AR TR ESIT 5 i
g [103] St T SN & TR EA T 1 A
104 | 4b RIS AR 1 A
105 | 4k JEEYT L R T R I AT 220V / 40W 2 A
106 [ 4k AMEE 2 i
107 | 4k i e S 4 2 A ikl
108 | 4b LR e 2% L=1000 /% 7 %
109 | 4k DINELERY AIARINFE: 22 kw 1 A 100A
110] 4k FIRAR AT BT 220V / 60W 1 A
11| 4k R T AC220V 60WA 4 25 6 A
;‘% 2] 4 PRSI E | s
o 113] 4k e USIPS LX29-7/3 0 A
|14 Ap R LT ¢ 80T 8 £
15| 4+ FF < YR AC220V S FRDC12V 0 A LEDT
116 | 4k FRAZFF % (1370) 4 A
117 4 Eipap i 1 S
118 4k R X [ J% HD/BRB 1 it
19| 4k B T 2 BVARAREE - 16 mm? 50 S
120 4k =GP EL 3X0. 75 mn? 20 >k
121] 4 2. 5o’ #E £ HLLR 20 *
122 4k 10mm2 3 £ Hh 28 20 >k
123 4k 1] i R 4% B i 2k 0 S
124 | 4k PRkl 80X 60X 1. 2 5 %
125| 4k LR RR 10 s
b I 5K/ % 2 %
ah [i5] 5 £ A5 80 A
;; 126 | 4t SIRE R, 30 8 * L
Seo 127 4b SR KWW, ©10 8 K JiE
e [128] S B I REk ®30 mn 1 A
129 4k W Bk ®©10 mm 16 A
130 4 SRR D13, JFH 6 K| RMELH
131] 4k RSk D13, 90° 10 A
b FERE R 1 N B
132 4k JeRFLAF 200mm 200 %
133 | 4b JRZIK L D6 mm 215 HiL
134 4k EMNiii] 3 e
135 | 4k AE 35 A
136 [ 4k ZLH (R UT10-6 20 A
137 4 LH M) SV1.25-3.2 40 A

300 45T



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



MO R BB OB

EwS 1202301306 B/¥5/17 7/ 7 / 8
S THJ 3000 / 1.0 - JXVF HRA R 1800X 3200 X 2200
EPa% IR RS TR IR =) 24 FIHRERT SRR . 1600X2100
A | AR % Fr 5/ R Z K | GfE &5 Fud Sz % I
JFITRF: 1600X2100 S 1) B
142 4k FEIIHL OMJ-502A e UL R K. 2 & |, BERENS
Lo 1171 brifEfF% o
7 {144 B B R B 1] 1700 X 800 2 s
46| H B9 AR S LERGREE K. 1=490 8 %
148 H BRI s K. 1.=2485 2 % | AmmiR AT S
1] G SRR T
150 | 4h Bk 0CM-02AX JPIIBEEE:  1600X2100 8 & 8. =me. B
55 X PRAERE
e | 162] A HIRFESE s K. 1=1800 8 =
77163 B SZ T3 R sl 1700 X 400 8 1
64| H FEES R T 5 K K%
165 H FEIE SRR 25414 15 K
168| H 2K AR FriELE £:500 40 A
169 | 4k S (HLD 5 kg
170 | 4k AT K 2 kg
171 4b A 1 kg
Si 172 4k 7/2/934%5 6 kg
o L3 ] 2t SN AT I 1 &
174 H RESEE FriELE ®8 mm, L=1000 8 %
175 | 4k HEE] 5 4 e
176 | 4k . . 12K @ 440 22 48 2 %
I8 SLLHEAS — e
T 2 SLHEE IR FYFER o N
179 | 4k AMEEE HZE$10 29 K 0 %
180 | 4b FMERE T e E BLRKE, 11860 0 1
181 | 4 [AMEEES S E w3 =510 0 s X R
ezl 182 4h 12K @ 84 2448 0 %
183) Ah | L i ) D8H. Sk 0 R
81l 4t MR 2R Je RS pEm 0 N
185| 4b UALRY (M12, fLEET72) 0 = UREY
AT 45T
bW R B &
Eas b a 1202301306 B/¥5/17] 7/ 7 / 8
R THJ 3000 / 1.0 — JXVF Bl R~ 1800 X 3200 X 2200
PAR 0 FEIARERS FEIXUHE . 1600X2100
kan ses B EE/HE z B Brbt FE &7 Rk Spir & I
1| RS S 2R MI8X 60 ATk, gpd, Rl R | 30 £ | 8.8 gk
b 5 55 G DR B R A 12k M20X110 F P, B SRR, SUERE| 0 B 8.8 ZiAth
R AR 2B B2RE M18X 60 Ao PR, gpdh, R WERE | 20 = 8.8 AL
2 |SHiRYE F3 IR M16X 40 FoT#, Jrgbs. gk B2E) 16 = [
3 |G RROR, A 2R MI6X 70 BB FA, #i, B | 16 £ | 8.8 gkt
4 | FRERE . TGRS IZEE M8 X 25 Lo e S 16 £y
5 | BREREL BRI AT R IR M12X40 B, gpdh, i3k} 2 = [
6 |HTE 12K M8 X 80 BooFa, AL, Rk, iR 8 ES
7 |RRE ] e BERE M12X 90 BOfa, ssh, wER) 4 £
8 [T = 8 b5 s Jid v A IR M12X45 B, gpdh, i3k} 20 £y
9 [IIHUBE RS IHLE 40 B M12X45 BOFa, sish, igi) 4 £
o [L10 | ITHLR S A 5 R BERE M12X45 BOFa, sish, iER) 4 ESS
25111 [IINLE L S B BERE M12X45 FoP, gpdh, i3k} 8 £y
12 | FIHLT S S IR S 4 IR M12X45 [ 5 8 ES
13 | PR A BERE M18X 60 B P, gpdh, R WBRE | 24 = 8.8 AL
14 | PR RS IR M12X45 FoT#, D, g iR 40 £y
15 | PR 22 A IR M16X60 BooFa, AL, Rk, iR 8 ES
16 |SeAE SR RAT R BERE M12X40 BT, g, g iR 12 £
17 | RiAT 5 R AT WEEENM20 A2 X P, gish, 3XUERE | 4 £y
18 | At 54 A E 2R M20X 90 FoTak, sk, 2R 4 £
19 |R#hiEE: IR M18X 40 BooPa, TR gpE. iR 20 £
20 A5 KA X IR M16X 40 BOoPH, TR, mps, e 8 ES
21 | IS R 12k M8 X 40 FoT#, g, g B8R 10 £y
22 5 5K, IHLEE A IR M12X40 [ 5 2 ES
23 |BERR SR B2k M8 X 30 B, gpdh, Bk} 56 £y
o[ 24 |BEMRGESE IZEE M6X 20 B, gpdh, i3k} 136 £y
Be | 25 |HiBERRS R HAE 12k M8 X 20 [ 5 6 ES
26 [BEAR S S THIAR 12 M8 X 30 B oPaf, gk, WERE 56 ES
27 [FEm i ORI K IZHE M12X 120 EOAECHRE . B B | 190 5a T4EE
28 |FEM I & (hEH FIIEE MI2X280 | E ORI PR WREE | 94 54
o 29 |CHRERE B2k M12X45 fioPa, s, WER 134 =
ﬁ 30 | FHUER BERE M12X45 BoP, gpdh, i3k} 162 = 13K
31 |EIHUERS IR M12X45 BOFH, s, igi) 86 ES T5K
32 | EREFER BERE M12X45 BO-Fa, sish, iER) 202 ESS



Skyfree
Skyfree:
114轨用M16X55


R R &

B’ E B

B4 W

Eae e a 1202301306 B/¥5/1] 7/ 1 / 8
it k) THJ 3000 / 1.0 — JXVF Bl R~ 1800 X 3200 X 2200
JaE 0 FIHRERG SEIEXUE . 1600X2100
ERad likes e A HS/ s Z Bbk FE &7 JRE A7 &

33 |RIBEFR IR M10X 30 BT, gpsl RN 106 £y

34 |xEHE W M8X 25 e L L O 4 =

35 |WEANE S B2k M8 X 25 e ~Pa . #E, BRRE 4 £
X[ 36 |k Rk ] e JZEE M10X 40 BT, gpsl RN 4 £ | EELYER
| 37 [WEAENE G 2R M10X 30 AP, gk, i8R} 16 £

38 X Gl 5 i AR IR M10X 25 BOoPak, i IERE 2 =

39 X EPHRE PR A BERE M10X 25 [Nt N ] 24 £

S| 40 |22 i 5IEdT JERK IR RS M12X 120 AP, gk, i8R} 12 ES

R [ A1 |BRIEAS 5 R E AR A HEAE M8 X 25 Ao FH, sis, igip 4 £

LR 42 | BRI AR R [ 2 K2R M10 X80 AP, S, R 0 % w4
43 | HRBR 22 48 55 B R S AR IR M10X 25 BOoTHL, gpsl RN 12 £y

Jars) 44 *@BEE{%&S%%EE& IR M12X45 [N yﬁm‘ 12+ 12 4; T13K

S 45 |BRmEER S e 2R M6 X 20 AR IR PRI, R 7 %

46 |BEMANR SCHE S B R i IR M12X45 Lo e N S 14 = T13K
W47 | RIIHLS EYLE M24 X 140 PO, SRR, R SRR [ 4 £ 8.8 %
5| | 48 [F B E 2 4ipi HEAE M8 X 25 BO Fa, sish, wER) 4 =
HL | 49 |9 FIHLBRH e JEAKIZR: M12X 100 ALEPAR G A IR | 12 53 WA 4%

51 |l 4 [#] B AZ S M10X 80 GG TR Pk, R 4 5 A 4%

52 [ B g lH e JKUEET 4X40 141 b
| 53 PeHITRREE 2 M6 30 BTGP Bk R | 4 S

Pl 50 | ok i B4 V3% 25 TR, . i | 4 =
AR5 [Rbk iR WIKIE: VSx80 | GIEVIE. mas. BE | 4 % |t

56 |BUE&E N B2 M8 X 80 A5 AR, WERE 2 53 T E A 4

57 |FZE AL & JEAKIZHE M12X 100 AP B, 2R 8 X

58 | ML B Y4 [ B2 M8 X 80 A5 k. W2t 4 53 WE A 4%

59 |JEkLE[E 2 JKYBAET 4X40 101 %

60 | | ZEUKSTF L[ & [ Sk ke M5 X 40 ALIE T E ., PRk, ERE 4 =
Al 61 | flboT ok E [ SKUE K M5X 40 A5 . SRR, R 0 £

Rt | 62 |f=riEshFRas B K B2 M8 X 80 A5 IR sk, W2t 0 53 WimA s

63 [HLps A e K84 M6X 50 LGP, i, B | 25 Ea A 5

64 | Bl e % B B2FE M6 X 25 40 £

65 | LMl [ e H R 22 MAX 10 60 b3

66 |1 THR 5 2 Ak 12K M10X 25 [ N ] 0 =

67 [ITHLSE 51 %% IR M10X 30 A P, gk, i8R} £

BT 68 |FITI RS 24 12 M8 X 25 FlSFa. g, iRk £

69 |14 5224 12k M10X 25 [ N £

70 | PP A S HR 12 M8 X 25 FloP3. g, iRk 22 £

71 [MERFE K A2 M8 X 100 AR SR IBRE | 48 ESS

72 |Z1 kS )23k 12K M10X 30 AIE T E ., Pk, ERE 0 £

73 | EEREAE RS IEHE M6X 30 ALIE T R 45 £

ZEi1| 74 [NERHE 12k M8 X35 i 7, gk 16 £

75 [HUIRFEHE R JEHE M8 X 25 AR T PR 66 5

g H gy M5.5X19 0 =

o AN X 100 10 =

79 Bk g - [ SK B £2M6 X 25 G208 MBEE 20 =

81 [JZ2 119 MRS Hh KBS e 4% YUk M5X 15 AL IR, HE 58 £

Pl A RAE



